

FIXED POINT THEOREMS ON CONTROLLED METRIC SPACES

S.S.P.Singh

Assistant Professor, S. N. Sinha College, Warisaliganj, Nawada, Bihar, India

ABSTRACT

In this paper, obtained unique fixed point theorems on a controlled metric spaces. Which is generalize the results of Kiran et al. [24] and many others results.

KEYWORDS: *Fixed Point, Controlled Metric Space, b-Metric Space, Extended b-Metric Space*

Article History

Received: 22 Sep 2021 / Revised: 28 Sep 2021 / Accepted: 01 Oct 2021

INTRODUCTION

The well-known Banach contraction theorem [1] has been generalized and extended by many authors (see [2]- [8]). Bakhtin [9], Bourbaki [10] and Czerwik [11, 12] introduced the concept of b- metric space. After that, a number of research papers have been established that generalized that Banach fixed point result in the framework of b- metric space (see [13]- [18]). Kamran et al. [23] generalized the structure of a b- metric space and called it an extended b - metric space. Thereafter, many research article have appeared, which generalize the contraction principle of Banach in extended b- metric space (see [19], [20], [21], [22],[24]). Mlaiki et al. [25] generalized the structure of extended b - metric space and called a controlled metric. In this structure many authors obtained fixed point theorem, which is generalize the contraction principle of a Banach in controlled metric space (see [26]). In this paper, obtain a unique fixed point theorem and example a controlled metric space, which is generalize a number of fixed point results of Kiran et al. [24] and others.

PRELIMINARIES

Definition 2.1 [11] Let X be a set and $s \geq 1$ a real number. A function $d : X \times X \rightarrow [0, \infty)$ is called a b - metric space, if it satisfies the following axioms for all $x, y, z \in X$.

- $d(x, y) = 0$ if and only if $x = y$,
- $d(x, y) = d(y, x)$,
- $d(x, y) \leq s[d(x, z) + d(z, y)]$. The pair (X, d) is called a b - metric space. Clearly, every metric space is a b - metric space with $s = 1$, but its converse is not true in general.

Definition 2.2 [23] Let X be a non- empty set and $s \geq 1$. A function $d : X \times X \rightarrow [0, \infty)$ is called an extended b - metric space, if it satisfies the following axioms for all $x, y, z \in X$.

- $d(x, y) = 0$ if and only if $x = y$,
- $d(x, y) = d(y, x)$,

- $d(x, y) = \min\{d(x, z) + d(z, y)\}$. The pair (X, d) is called an extended b - metric space.

Example 2.1 [23] Let $X = [0, \infty)$. Define $d : X \times X \rightarrow [0, \infty)$

$$d(x, y) = \begin{cases} 0, & \text{if } x=y \\ 3, & \text{if } x \text{ or } y \in \{1,2\} \\ 5, & \text{if } x, y \in \{1,2\} \\ 1, & \text{otherwise.} \end{cases}$$

Then (X, d) is extended b - metric space, where $\alpha : X \times X \rightarrow [1, \infty)$ is defined by $\alpha(x, y) = x + y + 1$, for all $x, y \in X$. Every b - metric space is an extended b - metricspace with constant function $\alpha(x, y) = s$ for $s \geq 1$, but its converse is not in general.

Definition 2.3 [25] Let X be a non- empty set and $\alpha : X \times X \rightarrow [1, \infty)$. A function $d : X \times X \rightarrow [0, \infty)$ is called controlled metric space, if it satisfies the following axioms for all $x, y, z \in X$.

- $d(x, y) = 0$ if and only if $x = y$,
- $d(x, y) = d(y, x)$,
- $d(x, y) \leq \alpha(x, z)d(x, z) + \alpha(z, y)d(z, y)$. The pair (X, d) is called an controlled metric space.

Example 2.2 [25] Let $X = \{0, 1, 2\}$. Consider the function $d : X \times X \rightarrow [0, \infty)$ defined by

$$d(0, 0) = d(1, 1) = d(2, 2) = 0, d(0, 1) = d(1, 0) = 1, d(0, 2) = d(2, 0) = 1/2, d(1, 2) = d(2, 1) = 2/5.$$

Take $\alpha : X \times X \rightarrow [1, \infty)$ to be symmetry and be defined by

$$\alpha(0, 0) = \alpha(1, 1) = \alpha(2, 2) = \alpha(0, 2) = \alpha(2, 0) = 1, \alpha(0, 1) = \alpha(1, 0) = 11/10, \alpha(1, 2) = \alpha(2, 1) = 5/4.$$

It is easy to show that d is a controlled metricspace.

Note that

$$d(0, 1) = 1 > 99/100 = \alpha(0, 1) [d(0, 2) + d(2, 1)].$$

Thus d is not an extended b - metric for the same function α .

Theorem 2.1 [24] Let (X, d) be a complete extended b - metricspace with $\alpha : X \times X \rightarrow [1, \infty)$. If $T : X \rightarrow X$ satisfies the inequality,

$$d(Tx, Ty) \leq a d(x, y) + b d(x, Tx) + c d(y, Ty) + e [d(x, Ty) + d(y, Tx)].$$

Where $a, b, c, e \geq 0$ and for each $x_0 \in X$,

$$a + b + c + 2e \lim_{n, m \rightarrow \infty} \alpha(x_n, x_m) < 1. \text{ Then } T \text{ has a fixed point.}$$

Theorem 2.2 [24] Let (X, d) be a complete extended b - metricspace with $\alpha : X \times X \rightarrow [1, \infty)$ If $T : X \rightarrow X$ satisfies the inequality,

$$d(Tx, Ty) \leq a d(x, y) + b [d(x, Tx) + d(y, Ty)] \text{ for each } x, y \in X, \text{ where } a, b \in [0, 1/3). \text{ Moreover for each } x_0 \in X, \lim_{n, m \rightarrow \infty} \alpha(x_n, x_m) < 1. \text{ Then } T \text{ has a unique fixed point.}$$

Lemma 2.1 For every sequence $\{x_n\}_n$ of elements from a controlled metricspace (X, d) the inequality

$$d(x_n, x_m) \leq (x_n, x_{n+1})d(x_n, x_{n+1}) + \sum_{i=n+1}^{m-2} (\prod_{j=n+1}^i \beta(x_j, x_m)) d(x_i, x_{i+1}) + \prod_{k=n+1}^{m-1} \beta(x_k, x_m) d(x_{m-1}, x_m)$$

Proof - $d(x_n, x_m) \leq (x_n, x_{n+1})d(x_n, x_{n+1}) + (x_{n+1}, x_m) d(x_{n+1}, x_m)$

$$(x_n, x_{n+1})d(x_n, x_{n+1}) + (x_{n+1}, x_m) (x_{n+1}, x_{n+2})d(x_{n+1}, x_{n+2}) + (x_{n+1}, x_m) (x_{n+2}, x_m) d(x_{n+2}, x_m)$$

$$(x_n, x_{n+1})d(x_n, x_{n+1}) + (x_{n+1}, x_m) (x_{n+1}, x_{n+2})d(x_{n+1}, x_{n+2}) + (x_{n+1}, x_m) (x_{n+2}, x_m) (x_{n+2}, x_{n+3})d(x_{n+2}, x_{n+3})$$

$$+ (x_{n+1}, x_m) (x_{n+2}, x_m) (x_{n+3}, x_m) d(x_{n+3}, x_m)$$

...

$$(x_n, x_{n+1})d(x_n, x_{n+1}) + \sum_{i=n+1}^{m-2} (\prod_{j=n+1}^i \alpha(x_j, x_m)) d(x_i, x_{i+1}) + \prod_{k=n+1}^{m-1} \alpha(x_k, x_m) d(x_{m-1}, x_m).$$

Hence

$$d(x_n, x_m) \leq (x_n, x_{n+1})d(x_n, x_{n+1}) + \sum_{i=n+1}^{m-2} (\prod_{j=n+1}^i \alpha(x_j, x_m)) d(x_i, x_{i+1}) + \prod_{k=n+1}^{m-1} \alpha(x_k, x_m) d(x_{m-1}, x_m). (1)$$

Lemma 2.2 Every sequence $\{x_n\}_n$ of elements from a controlled metric space (X, d) , having the property that there exists $k \in [0, 1)$ such that

$$d(x_{n+1}, x_n) \leq kd(x_n, x_{n-1}), (2)$$

for every $n \in \mathbb{N}$ is Cauchy sequence.

Proof – First, by successively applying (2), we get

$$d(x_{n+1}, x_n) \leq k^n d(x_1, x_0) (3)$$

for every $k \in \mathbb{N}$.

Then by lemma (2.1), for all $n, m \in \mathbb{N}$, we have

$$d(x_n, x_m) \leq (x_n, x_{n+1})d(x_n, x_{n+1}) + \sum_{i=n+1}^{m-2} (\prod_{j=n+1}^i \alpha(x_j, x_m)) d(x_i, x_{i+1}) + \prod_{k=n+1}^{m-1} \alpha(x_k, x_m) d(x_{m-1}, x_m),$$

$$\leq (x_n, x_{n+1})d(x_n, x_{n+1}) + \sum_{i=n+1}^{m-2} (\prod_{j=n+1}^i \alpha(x_j, x_m)) d(x_i, x_{i+1}) +$$

$$\prod_{k=n+1}^{m-1} \alpha(x_k, x_m) d(x_{m-1}, x_m), \theta(x_{m-1}, x_m)$$

$$d(x_n, x_m) \leq \alpha(x_n, x_{n+1}) k^n d(x_0, x_1) + \sum_{i=n+1}^{m-2} (\prod_{j=n+1}^i \alpha(x_j, x_m)) d(x_i, x_{i+1}) k^i +$$

$$\prod_{k=n+1}^{m-1} \alpha(x_k, x_m) d(x_0, x_1), \theta(x_{m-1}, x_m) k^{m-1}$$

$$d(x_n, x_m) \leq (x_n, x_{n+1}) k^n d(x_0, x_1) + \sum_{i=n+1}^{m-1} (\prod_{j=n+1}^i \alpha(x_j, x_m)) d(x_i, x_{i+1}) k^i (4)$$

$$\text{Let } S_1 = \sum_{i=0}^i (\prod_{j=0}^i \alpha(x_j, x_m)) d(x_i, x_{i+1}) k^i.$$

From 2.4, we get

$$d(x_n, x_m) \leq (x_n, x_{n+1}) [k^n d(x_0, x_1) + S_{m-1} - S_n]. (5)$$

As above, using $(x, k) < 1$, and ratio test,

$\lim_n S_n$ exists. Thus $\{S_n\}$ is Cauchy. Finally, letting $n, m \rightarrow \infty$ in 5, we conclude that

$\lim_{n,m} d(x_n, x_m) = 0$. Thus $\{x_n\}_n$ is a Cauchy sequence.

MAIN RESULTS

Theorem 3.1 Let (X, d) be a complete controlled metricspaces with $d : X \times X \rightarrow [1, \infty)$. If $T : X \rightarrow X$ satisfies the inequality

$$d(Tx, Ty) \leq ad(x, y) + bd(x, Tx) + cd(y, Ty) + e[d(x, Ty) + d(y, Tx)] \quad (6)$$

Where $a, b, c, e \geq 0$ and for each $x_0 \in X$,

$$a + b + c + 2e \lim_{n,m} d(x_n, x_m) < 1. \text{ Then } T \text{ has a fixed point.}$$

Proof—Let us choose an arbitrary $x_0 \in X$ and define the iterative sequence $\{x_n\}_n$ by

$$x_n = Tx_{n-1} = T^{n-1}x_0 \text{ for all } n \geq 1.$$

If $x_n = x_{n-1}$, then x_n is a fixed point of T and the proof holds. So, we suppose

$x_n \neq x_{n-1}$, for all $n \geq 1$. Then from equation 6, we have

$$\begin{aligned} d(x_{n+1}, x_n) &= d(Tx_n, Tx_{n-1}) \\ &\leq ad(x_n, x_{n-1}) + bd(x_n, Tx_n) + cd(x_{n-1}, Tx_{n-1}) + e[d(x_n, Tx_{n-1}) + d(x_{n-1}, Tx_n)] \\ &= ad(x_n, x_{n-1}) + bd(x_n, Tx_n) + cd(x_{n-1}, Tx_{n-1}) + e[d(x_n, x_n) + d(x_{n-1}, Tx_n)] \\ &= ad(x_n, x_{n-1}) + bd(x_n, Tx_n) + cd(x_{n-1}, Tx_{n-1}) + ed(x_{n-1}, Tx_n) \\ &= ad(x_n, x_{n-1}) + bd(x_n, Tx_n) + cd(x_{n-1}, Tx_{n-1}) + e[(x_{n-1}, x_n)d(x_{n-1}, x_n) + (x_n, Tx_n)d(x_n, Tx_n)] \\ &= [a + c + e(x_{n-1}, x_n)]d(x_{n-1}, x_n) + [b + e(x_n, Tx_n)]d(x_n, Tx_n) \\ &= [a + c + e(x_{n-1}, x_n)]d(x_{n-1}, x_n) + [b + e(x_n, x_{n+1})]d(x_n, x_{n+1}) \quad (7) \end{aligned}$$

Similarly,

$$d(x_n, x_{n+1}) \leq [a + b + e(x_{n-1}, x_n)]d(x_{n-1}, x_n) + [c + e(x_n, x_{n+1})]d(x_n, x_{n+1}) \quad (8)$$

Adding (7) and (8), we get

$$\begin{aligned} 2d(x_n, x_{n+1}) &\leq [2a + b + c + 2e(x_{n-1}, x_n)]d(x_{n-1}, x_n) + [b + c + 2e(x_n, x_{n+1})]d(x_n, x_{n+1}) \\ &= [2 - b - c - 2e(x_n, x_{n+1})]d(x_n, x_{n+1}) + [2a + b + c + 2e(x_{n-1}, x_n)]d(x_{n-1}, x_n) \\ d(x_n, x_{n+1}) &\leq [2a + b + c + 2e(x_{n-1}, x_n)]d(x_{n-1}, x_n) / [2 - b - c - 2e(x_n, x_{n+1})]d(x_n, x_{n+1}) = \mu d(x_{n-1}, x_n) \end{aligned}$$

where, $\mu = [2a + b + c + 2e(x_{n-1}, x_n)] / [2 - b - c - 2e(x_n, x_{n+1})]$

Since, $a + b + c + 2e \lim_{n,m} d(x_n, x_m) < 1$,

$$2a + 2b + 2c + 4e \lim_{n,m} d(x_n, x_m) < 2,$$

$$2a + 2b + 2c + 2e \lim_{n,m} d(x_n, x_m) + 2e \lim_{n,m} d(x_n, x_m) < 2,$$

$$2a + b + c + 2e \lim_{n,m} d(x_n, x_m) < 2 - b - c - 2e \lim_{n,m} d(x_n, x_m),$$

$$2a + b + c + 2e \lim_{n,m} d(x_n, x_m) / 2 - b - c - 2e \lim_{n,m} d(x_n, x_m) < 1.$$

Implies, $\mu < 1$.

Hence from lemma 2.2, $\{x_n\}_n$ is a Cauchy sequence. As X is complete, therefore there exists $x \in X$

such that $\lim_n x_n = x$. Next, we will show that x is a fixed point of T . From the triangle inequality and equation (6), we have

$$\begin{aligned}
 d(x, Tx) &= (x, x_{n+1})d(x, x_{n+1}) + (x_{n+1}, Tx)d(x_{n+1}, Tx) \\
 &= (x, x_{n+1})d(x, x_{n+1}) + (x_{n+1}, Tx)[a d(x_n, x) + b d(x_n, Tx_n) + c d(x, Tx) + e [d(x_n, Tx) + d(x, Tx_n)]] \\
 &= (x, x_{n+1})d(x_n, x_{n+1}) + a (x_{n+1}, Tx)d(x_n, x) + b (x_{n+1}, Tx)d(x_n, Tx_n) + c (x_{n+1}, Tx)d(x, Tx) + e (x_{n+1}, Tx)d(x, x_{n+1}) + \\
 &+ e (x_{n+1}, Tx)[(x_n, x)d(x_n, x) + (x, Tx)d(x, Tx)] \\
 &= [(x, x_{n+1}) + b (x_{n+1}, Tx) + e (x_{n+1}, Tx)]d(x, x_{n+1}) + [a (x_{n+1}, Tx) + e (x_{n+1}, Tx)(x_n, x)]d(x_n, x) + [c (x_{n+1}, Tx) + \\
 &+ e (x_{n+1}, Tx)(x_n, x)]d(x, Tx) [1 - c (x_{n+1}, Tx) - e (x_{n+1}, Tx)(x, Tx)]d(x, Tx) \\
 &= [(x_{n+1}, Tx) + b (x_{n+1}, Tx) + e (x_{n+1}, Tx)]d(x, x_{n+1}) + [a (x_{n+1}, Tx) + e (x_{n+1}, Tx)(x_n, x)]d(x, Tx) \rightarrow 0 \text{ as } n \rightarrow \infty. \\
 &[1 - c (x_{n+1}, Tx) - e (x_{n+1}, Tx)(x, Tx)]d(x, Tx) \rightarrow 0. \tag{10}
 \end{aligned}$$

Similarly, $[1 - b (Tx, x_{n+1}) - e (Tx, x_{n+1})(Tx, x)]d(x, Tx) \rightarrow 0$ (11)

Adding (10) and (11), we have

$$[2 - b (Tx, x_{n+1}) - c (x_{n+1}, Tx) - 2e (x_{n+1}, Tx)(x, Tx)]d(x, Tx) \rightarrow 0.$$

Since, $[2 - b (Tx, x_{n+1}) - c (x_{n+1}, Tx) - 2e (x_{n+1}, Tx)(x, Tx)] > 0$,

We get $d(x, Tx) = 0 \Rightarrow Tx = x$.

Now, we show that x is the unique fixed point of T . Assume y is another fixed point of T , then we have $Ty = y$.

Also,

$$\begin{aligned}
 d(x, y) &= d(Tx, Ty) = a d(x, y) + b d(x, Tx) + c d(y, Ty) + e [d(x, Ty) + d(y, Tx)] \\
 &= a d(x, y) + b d(x, x) + c d(y, y) + e [d(x, y) + d(y, x)] \\
 &= a d(x, y) + 2e d(x, y) \\
 &= [1 - a - 2e] d(x, y) = 0.
 \end{aligned}$$

As, $a + b + c + 2e = a + b + c + 2e \lim_{n, m} (x_n, x_m) < 1$.

Therefore, $[1 - a - 2e] > 0$, and $d(x, y) = 0 \Rightarrow x = y$.

Hence T has a unique fixed point in X .

Remark 3.1 From the symmetry of the distance function d , it is easy to prove similar to that in [4, 14] that $b = c$. Thus the inequality (6) is equivalent to the following inequality

$$d(Tx, Ty) = a d(x, y) + b [d(x, Tx) + d(y, Ty)] + e [d(x, Ty) + d(y, Tx)] \tag{12}$$

where $a, b, e \geq 0$ such that $a + 2b + 2e \lim_{n, m} (x_n, x_m) < 1$.

If $a = b = 0$ and $e \in [0, \frac{1}{2})$ in equality (12), we obtain generalization of Chatterjee’s maps [8] in controlled metric space.

Remark 3.2 Theorem 3.1 generalizes and improves Theorem 9 of [16] and therefore Theorem 2.1 of [3]. Moreover, Theorem 3.1 generalizes and improves Theorem 12 of [21], Theorem 2.19 from [28] and Theorem 9 from [24].

Theorem 3.2 Let (X, d) be a complete controlled metric space with $\mu : X \times X \rightarrow [1, \infty)$. If $T: X \rightarrow X$ satisfies the inequality

$$d(Tx, Ty) \leq ad(x, y) + b[d(x, Tx) + d(y, Ty)] \quad (13)$$

for each $x, y \in X$, where $a, b \in [0, 1/3)$. Moreover for each $x_0 \in X$,

$$\lim_{n, m \rightarrow \infty} d(x_n, x_m) < 1. \text{ Then } T \text{ has a fixed point.}$$

Proof—Let us choose an arbitrary $x_0 \in X$ and define the iterative sequence $\{x_n\}_{n \in \mathbb{N}}$ by

$$x_n = Tx_{n-1} = T^{n-1}x_0 \text{ for all } n \geq 1.$$

If $x_n = x_{n-1}$, then x_n is a fixed point of T and the proof holds. So, we suppose

$x_n \neq x_{n-1}$, for all $n \geq 1$. Then from equation 3.8, we have

$$\begin{aligned} d(Tx_n, Tx_{n-1}) &\leq ad(x_n, x_{n-1}) + b[d(x_n, Tx_n) + d(x_{n-1}, Tx_{n-1})]d(x_{n+1}, x_n) \\ &\leq ad(x_n, x_{n-1}) + b[d(x_n, x_{n+1}) + d(x_{n-1}, x_n)] \\ &= [1 - b]d(x_{n+1}, x_n) + [a + b]d(x_n, x_{n-1}) \\ d(x_{n+1}, x_n) &\leq [a + b]d(x_n, x_{n-1}) / [1 - b] \\ &= \mu d(x_n, x_{n-1}) \end{aligned} \quad (14)$$

Where $\mu = \{a + b\} / \{1 - b\}$.

Since $a, b \in [0, 1/3)$, so $\mu < 1$. Hence from lemma (6), $\{x_n\}_{n \in \mathbb{N}}$ is a Cauchy sequence. As X is complete, therefore there exists $x \in X$ such that $\lim_{n \rightarrow \infty} x_n = x$. Next, we will show that x is a fixed point of T . From the triangle inequality and equation 3.8, we have

$$\begin{aligned} d(x, Tx) &\leq d(x, x_{n+1})d(x, x_{n+1}) + d(x_{n+1}, Tx)d(x_{n+1}, Tx) \\ &= (x, x_{n+1})d(x, x_{n+1}) + (x_{n+1}, Tx) \{ad(x, x_n) + b[d(x, Tx) + d(x_n, Tx_n)]\} [1 - b(x_{n+1}, Tx)]d(x, Tx) \\ &= (x_{n+1}, x)d(x, x_{n+1}) + a(x_{n+1}, Tx)d(x, x_n) + b(x_{n+1}, Tx)d(x_n, Tx_n) \rightarrow 0 \text{ as } n \rightarrow \infty. \\ [1 - b(x_{n+1}, Tx)]d(x, Tx) &= 0. \end{aligned} \quad (15)$$

Since, $\lim_{n, m \rightarrow \infty} d(x_n, x_m) < 1$.

We get

$$[1 - b(x_{n+1}, Tx)] > 0 \text{ and so}$$

$$d(x, Tx) = 0 \text{ i.e. } Tx = x.$$

Now, we show that x is the unique fixed point of T . Assume y is another fixed point of T , then we have $Ty = y$. Also,

$$\begin{aligned} d(x, y) &= d(Tx, Ty) \leq ad(x, y) + b[d(x, Tx) + d(y, Ty)] \\ &= ad(x, y) < d(x, y). \end{aligned}$$

Which is a contradiction. Hence $(x, y) = 0 \Rightarrow x = y$. Hence T has a unique fixed point in X .

Remark 3.3 Theorem 3.2 generalizes Theorem 2 of [13] and Theorem 10 of [24].

Example 3.1 Let $X = \{0, 1, 2\}$. Consider the function $d: X \times X \rightarrow [0, \infty)$ defined by

$$d(0, 0) = d(1, 1) = d(2, 2) = 0, d(0, 1) = d(1, 0) = 10, d(0, 2) = d(2, 0) = 5, d(1, 2) = d(2, 1) = 30.$$

Take $\alpha: X \times X \rightarrow [1, \infty)$ to be symmetric and be defined by

$$(0, 0) = (1, 1) = (2, 2) = (0, 1) = (1, 0) = 1, (0, 2) = (2, 0) = 4, (1, 2) = (2, 1) = 1.$$

It is easy to show that d is a controlled metric space.

Note that,

$$d(1, 2) = 30 > 15 = (1, 2) [d(1, 0) + d(0, 2)].$$

Thus d is not an extended b -metric space. Suppose function $T: X \rightarrow X$ such that

$$T0 = 0, T2 = 0 \text{ and } T1 = 2. \text{ If } a = 3/15, b = 1/15, c = 2/15 \text{ and } e = 1/15.$$

Hence all the conditions of Theorem 3.1 are satisfied and so T has a unique fixed point $ix = 0$.

REFERENCES

1. S. Banach: "Sur les operation dans les ensembles et leur application aux equation sitegrales". *Fundam. Math.* 1922, vol. 3, pp 133- 181.2.
2. R. Kannan : " Someresults on fixed point". *Bull. Calc. Math. Soc.* 1972, vol. 25, pp 727-730.
3. M. Edelstein : " Anextension of Banach`s Contraction Principle". *J. Lond. Math. Soc.* 1961, vol. 12, pp 7 – 10.
4. G. E. Hardy & T. D. Rogers : " A generalization of a fixed point theorem of Reich". *Can. Math. Bull.* 1973, vol. 16, pp 201 – 206.
5. M. D. La Sen, S. L. Singh, M. E. Gordji, M. E. Ibeas & R. P. Agarwal : " Fixed point type results for a class of extended cyclic self- mappings under three general weak contractive conditions of rational type".
6. L. B. Ćirić : " A generalization of Banach`s contraction principle". *Proc. Amer. Math. Soc.* 1974, Vol. 45, pp 77- 88.
7. Z. D. Mitrović, H. Aydi, N. Hussain & A. Mukheimer : " Reich, Jungck and Berinde common fixed point results on F -metric space and an application". *Mathematics* 2019, vol. 7, 387.
8. S. K. Chatterjee : " Fixed point theorems". *C. R. Acad. Bulgare Sci.* 1968, vol. 60, pp 71- 76.
9. I. A. Bakhtin : " The contraction mapping principle in almost metric spaces". *Funct. Anal.* 1989, vol. 30, pp 26 – 37.
10. N. Bourbaki : " *Topologie Generale*". Herman Paris, France, 1974.
11. S. Czerwik : " Nonlinear set - valued contraction mappings in b - metric spaces". *Atti Semi. Mat. Fis. Univ. Modena* 1968, vol. 46, pp 263 – 276.
12. S. Czerwik : " Contraction mappings in b - metric spaces". *Acta. Math. Inform. Univ. Ostrav.* 1993, vol. 1, pp 5 – 11.

13. K. Dubey, R. Shukla, & R. P. Dubey : “ Some fixed point results in b - metric spaces”. *Asian J. Math. Appl.* 2014, vol. 4, pp 31 – 34. xanov : “ On fixed points for Chatterjee’s maps in b - metric spaces”. *Turk. J. Anal. Number Theory* 2016, vol. 4, pp 31 – 34.
14. Ilchev & B. Zlatanov : “ On fixed points for Reich maps in b - metric spaces”. *Annual of Konstantin Preslavski University of Shumen, Faculty of Mathematics and Computer Science XVIIIC Shumen, Bulgaria, 2016*, pp 77- 88.
15. S. Aleksic, Z. D. Mitrovic & S. Radenovic : “ On some recent fixed point results for single and multi- valued mappings in b - metric spaces”. *Fasc. Math.* 2018, vol. 61, pp 5 - 16.
16. S. L. Singh, S. N. Mishra, R. Chugh & R. Kamal : “ General common fixed point theorems and application”. *J. Appl. Math.* 2012, 902312. [Cross Ref]
17. L. B. ĩri : “ A generalization of Banach’s contraction principle”. *Proc. Amr. Math. Soc.* 1974, vol. 45, pp 267 - 273.
18. L. Subashi & N. Gjini : “ Fractals in extue fixed point results in extended b - metric space”. *Mathematics* 2018, vol. 6, 68. [cross Ref]
19. L. Subashi & N. Gjini : “ Some results on extended b - metric spaces and pompeiu- Hausdorff metric”. *J. Pro.Res. Math.* 2017, vol. 12, pp 2021-2029.
20. Alquahtani, A. Fulga & E. Karapinar : “ Non- unique fixed point results in extended b - metric space”. *Mathematics* 2018, vol. 6, 68. [Cross Ref]
21. W. Shatanawi, A. Mukheimer & K. Abodayeh: “ Some fixed point theorems in extended b - metric spaces”. *Appl. Math. Phys.* 2018, vol. 80 pp 71 – 78.
22. T. A. Kamran: “Generalization of b - metric space and some fixed point theorems”. *Mathematics* 2017, vol. 5, 19. [Cross Ref]
23. Q. Kiran, N. Alamgir, N. Mlaiki & H. Aydi: “ On some new fixed point results in complete extended b - metric spaces”. *Mathematics* 2019, vol. 7, 476. doi : 10.3390
24. N. Mlaiki, H. Aydi, N. Souayah & T. Abdeljawad: “ Controlled metric type spaces and the related contraction principle”. *Mathematics* 2018, vol. 6, 194. [Cross Ref]
25. Lateef “ Fisher type fixed points results in controlled metric spaces”. *J. Math. Computer Sci.* 2020, vol. 20, pp 234 – 240.
26. M. Jovanovic, Z. Kadelburg & S. Radenovic “ Common fixed point results in metric type spaces”. *Fixed Point Theory Appl.* 2010, vol. 1, 97812. [Cross Ref]
27. M. H. Shah, S. Simic, N. Hussain, A. Sretenovic & S. Radenovic “ Common fixed point theorems for occasionally weakly compatible pairs on cone metric type spaces”. *J. Comput. Anal. Appl.* 2012, vol. 14, pp 290 – 297.